Ruby - Bug #6581

Array#shuffle, Array#shuffle! 000000000000000
06/13/2012 01:59 AM - kachick (Kenichi Kamiya)

Status: Rejected
Priority: Normal
Assignee:

Target version:

ruby -v: ruby 1.9.3p194 (2012-04-20 revision Backport:
35410) [i686-linux]

Description
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[].shuffle Random.new #1. #=> ArgumentError: wrong number of arguments (1 for 0)
[].shuffle random: Random.new #2. #=> []

[].shuflle {} #3. #=> []

[].shuffle a: false, b: false #4. #=> []
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History

#1 - 06/13/2012 02:15 AM - naruse (Yui NARUSE)
- Status changed from Open to Rejected
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#2 - 06/13/2012 03:01 AM - kachick (Kenichi Kamiya)
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#3 - 06/14/2012 02:24 PM - knu (Akinori MUSHA)
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